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| 1(1.37%) | 0(0.00%) | 1(1.35%) | 0(0.00%) | 2(0.69%)
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(2) Z2H|OFA| A A|2te| HE: OFEEHIAEIE AUCE 0| of =502} B ot0] 2FHC Z2E|OpA
AAA etz 2 ot OpR7IA| 2 EE HIV ZZH|OFA| HA|A|2f 0] ofe| HE £ = {5t STtk
ATt D222 HIV Z2E|OHA| HA|A| E| Lt icb|29t 2|ELIHIZ FERY E= 2HHC Z2H|0FA| A

A L2t 5| 2& F0{st= 2A10)|A| Of ofe| E& 2 L|slOf BtCt.

rlOII

HIV Z2E{OtA| AR ZL|LH|29t 2| ELIHIZ HE 222 F0{5h= SAtof7| 0 ofS AYE
VIZ

O|5t0{Of 5t 713 U 823 AEol{OfF SICH HIV

fo N

H ElOFA| AAA| A2|LIB|Z2t 2| ELIHIZ &
Y, CHRLIE|EQt 2|ELHIE WER Y, IYI|LIEZ, £& IYILH[29} 2|[ELHIZ2S HERHY

O =2 E0E= 20, 0 oF 80| 20 mgs FO{ M= Qte|0f F2|5H0] AtESHOF Bt

AL[LIE|I2E F02= HIV 2A10([A, O] 22| 2|2= 40 mgs Alet=|1l, O] ofe| B2 2|2 0| HE

{HE04stil 627 O] ©F 40 mg, 12 12|15 EEFO{A| 0] &2
3,C

Ql
=
H|E 2.3, Cmax HIE 2.7). EMZH|2 & FO{eE= SA=

rir
o
2
0
L‘i

AUCZt Cmax?t 37t EHAUC
&

O] 1€ 40 mgE =1foliM= ¢t

(3) O|E2tZLIE : OIESHIAEIEI AUCE O|E2tE LIS 200 mgt 0] 2F 40 mg EE

_%_
S7tEIACH Q2B 2 O|EtZHES FO - = SA10|M 0] 2F 20 mg O¢E F0sts 4% F2l5H0F 5t

(4) CHAFH| 22t FE5tHLE EESHA| 2 SHIEIAH|2/Ite|Et |2 /2| ELHIZ: e|ELHIE= &
2ot CYP3A AAA[0] 1, Tie|EfILef|H|2, 2[ELH|Z, CIAMRE|E= BCRP HA|A[0] 12, Oi2|EfLef|H|=

= OATP1B1 X H|O| 22 CIALRH| 22} ¥

HEStHL FESHA| 42 SHIEtAHI2/D2|Ef T B|2/2|E
LIB|2E O] of1t H& A| OtE2HIAEIEIS| &8 SIHAZ o+ U222 YESHM= et
2) O] S CYP3A4 HAHAH (A S 2LREL, OIA22t0|=A| S 4A| & OFEA &RIZA)et F0e 2 0f o

(A
o] Y7 St & U282 LF 5| FO0{5H0{0F Bt

3) 2|ZIO|Al £= CH2 CYP3A4 RS54 : 0] 22 CYP3A4 KA 2 HE S0JA| (0. ofTib|2 =, 2|2H|
4l) OFEZ2HIAEIEIS| ¥FE S8 ZAaAZ £ ULt 2[EIAe 0|F 43 2&2| 7| IE0(CYP3AL &+
2 hepatocyte uptake transporter OATP1B1 2iA|), OtE S HIAEIEILD} 2| HI|AS HE S0{5t= 3

SA|0| £0{5t= A0| HYE[0, 2|BT|L F£0] = OLESHIAEIEIS S| F0{5HH OtE2HIAEIEIS]

4) O] 42 FUYBHA T BYYSHA i OAER HRHS B YA AT M YLZOR B9

O

3 OFet ME 2R 2 BAE|| YUCH 012 BE S0[5H AAeto] 45 2HB0| Chef A RE X



Al AX|A| : OLE ZHIAELEIN 1 CHARA|= OATP1B1Zt-~& (2] 7|20|Ct E5t, OfESHIAE}

=582 P-=2|ZE2H|QI(P-gp)2l 7|&0|Ct. OATP1BT1EA| & P-gp2| AA|A|(Of, AlZ24

Z2)et EFOA|, OLESHIAEIEIO| YA|0|EES S7MAAH, 2FES Z2 0139 /e d= 37t
AlZ o QUCH OFEZHIAEIEI 10 mo2t AIZ2AXEE 5.2 mg/kg/day?| EE5F 0= OLESHIAELEI|
AUCE 8.781 =25 S7tAIZCHAUC BIE: 8.7).

OIESHIAEIEIZ A|IZ2AL2I HRE0{A| OLESHIAEIEIS| E0EH2 10 mgS 2 I6HAM = QtEICH
22|7tZ2j|H|2 L O|E2MEfAH|2= OATP1B1, OATP1B3, P-gp X BCRP2| AA|A|0|22, OtE 2HIAE}

€] 2= S7AIZIC) O] ot FESHA = QHeltt.

—
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